Classic mistakes by the Simpsons

Factors, Multiples and Powers



What classic mistake has Bart made?




What classic mistake has Lisa made?

The factors of 20
are 1, 2, 4, 10




What classic mistake has Milhouse made?

28 IS a
factor of 7.




The factors of 16
are 1, 2,4, 4,8
and 16.




What classic mistake has Bart made?




What classic mistake has Marge made?

The lowest
common multiple
of 15 and 30 is 60.

REDD




What classic mistake has Milhouse made?

28 is a factor of 7.
6 is a multiple of 18.




What classic
mistake has
Mr Burns made?




What classic mistake has Maggie made?

42 equals 8 and
33 equals 9.




What classic mistake
has Homer made?

52 42 equals
and 23 + 1

‘equals 27.




